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Correct Marks : 1 Wrong Marks : 0

Match the items of List-I with those of the items of List-II

ListI ListII

A)  Range of Sec™ [1+4;:n:::5.1 1] I) odd function

[] denote greatest integer function

B) Domain of f(x). IT) [ 1)
)
where f[:'rf+ljzxz+i2
y = %
O flx+y)=F(x)+ f(5): £(1)=5 I {Sec™s. Sec™ 4

D) Sin'x- Cos?'x+Sin(1-x)=0=>xe IV) R-(-2.2)

V) {sec™1, Sec™2]

DEE- I oddovwh, 0E8- I ' wodanwes™ sddokk.

SOLED | 0¢s - 11
A)  gec™ [1+m53 I] CIEy, Tgd I) £ DOREAL
[] (9022 argred HTCLENN D Wol
B . II 'd .
) f[.'f+l]:x1+ l._, LONTaY Yo ) {0%}
X X L <)

f(x) ciog), o@daw
O f(x+y)=F(x)+ £(¥): F(1)=5 )  fsec™s.Sec™ 4|
D) Sin7'x- Cos” x+Sin~ (I-x)=0=>xe IV) E-(-2.2)

V) {Sv.ﬂ:-:_1 1. Sec™ 2}

The correct match 1s

DO 2
Options :
A B C D
V 1AY | II
1.

~

T
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II IV I I
2. %
A B C D
V II II1 IV
3 ®
A B C
III II I IV
4, ®

Question Number : 2 Question Id : 719650162 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

rd

The domain of the function f(x)=Sec™ (3x—4)+Tanh™ { g : = } 1S

f(x)=Sec™(3x—4)+Tanh™ { %J 00BN Ty, DBFS.

Options :

], ®
5\
4
; |
78
—8.1u£12
[e0(3.2
3% h
(-8, 1]{? 2}
4. ’

~

T
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Question Number : 3 Question Id : 719650163 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Let m = (9:’:3 +54n -I-SO)(QH*3 +45n+ 54)(91:3 +36n + 35] . The greatest positive integer

which divides m. for all positive integers » ., 1s

m= (9112 +54!'F+80)(91?2 +45n + 54)(9”3 +36n +35) WS oWR0. B W 3PTZ0ESNN
n O m Q @0ow (H0RQ O Yrorelo

Options :

720

1. ¢

724

7R

696

842

Question Number : 4 Question Id : 719650164 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If A 1s a 3x3 matrix and the matrix obtained by replacing the elements of A with their

corresponding cofactors is

=

i
4
=

9
)SP S0 DORP SBy SE | 4

i

-2

-5

4

. then a possible value of the determinant of A

208 3%3 aﬁs‘gﬁ' O30 A cﬂms‘g, RPN, P38 ea(mmaaoﬁscﬁ'sg DAPCOETS OIS Snees”

©oWS, A G ATPOEINIR 2w DS Dewad
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':.JJ

2.
2
] &8
1
4, ®

Question Number : 5 Question Id : 719650165 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

if A=

Options :

. ¥
2A
2 &
A3
3 ®
| 1
2
-2
4 ®

3

2

9

o =

4
4 | then (A”)

VOND, V)

=]

B

Eﬂ

(A%)”

Il

Question Number : 6 Question Id : 719650166 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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The equations x+ y+z=3, x+2y+2-=6 andx+ay+3z=5~ have

X+y+z=3, x+2y+22=6 D00 x+ay+3z=>5 JNESerLw
Options :

No solution whena # 3. b 1s any value

a # 3, b3 o) IS VARSI YR, FPESD SO0 Gotiad)

|, *
Infinite number of solutions when 5 # 9
b # 9 ©0NSY YW, B0 Jowgd FASLD EOH Gotrrow
2, ®
Unique solution when ¢ # 3. b 1s any value
a # 3, b% ©d) JNS oI YD 58 PSS SO0 Sobron
3. ¢

Unique solution when ¢ = 3andb = 9
a = 33000 b # 9 ORI 38 PLIS EOO Sobrow

Question Number : 7 Question Id : 719650167 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Letz€ Cand i=+—1,if a. b, c=(0, 1) be such that a*> +5*+¢* =1 and

b+ic =(l1+a):z, then L -
=9

Z € € 0605 i =V—1 0%owro, a* +b*+c? =1 HOaw b+ic =(1+a):z

' l+iz
sabgagurr a. b, e (0. 1) dofl, o) | =
—iz
Options :
a+ib
l+¢
1.V

~

T
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a—ib

l+c
).

a=i

l-c
J.sa

a-+ib

l—c
4, %

Question Number : 8 Question 1d : 719650168 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If A—{Z—x+i}/ real part of ﬂ —2}. then the locus of the point P(x,y)in the
z—1

cartesian plane 1s

z—1

A—-{ z=x+iy/ S grllo —2} VOWD, VR TNV S o)

Z—1i
P(x,y) G00%) 20otodesn
Options :
a pair of lines passing through (—1, —1)
(—1, 1) o o a8 DO CarAluiyo

1, %
. : 1 -1 3
a circle of radius —= and the centre | —.—
J2 272
Solo (ii] NVIaToVeY @sﬁcﬁm L P OO a8 Syo
- 2 2 = \/E 9
2.
a pair of lines passing through (—1, —2)
(—1, —2) Kot FAD 2u8 VOF aEiJ"CﬁDﬁ&o
3. %

~

T
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; ; |
a circle of radius =

—

TP PO = P SO0 &8 SySo
il -') -0

4. % &

Question Number : 9 Question Id : 719650169 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

" ' ~ 0
If @ 1s a complex cube root of unity, then ( 1 -0 + o)

+ (1 - &+ (r))ﬁ:

6

; 516 3
D&% ST, &l odSrve @ wowd, ey (1 — @ + ro‘] + (1 -0+ o) =

Options :

0
1 ®
6
2. %
64
3, %
128
4.

Question Number : 10 Question Id : 719650170 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

If & is a solution of the equation ="+ p,z"" + p,z" >+ .......+ p, = 0. where p,
arereal (i = 1, 2, 3...oenut), then

psinnx +p sin(n—1)x + ...+ psinx + 1 =

S PR R n$§ P, RS LoD BONSR)YE
A PETN BTN e + P, = 0 DTS € af PO oS, )\

psinnx + p, sin(n—1)x + ...+ psinx + 1 =

Options :

collegedunia:s

India’s largest Student Review Platform



cos(n+1)x

| ®
Sin(n[n+l)]x
). #
1
3.
0
4%

Question Number : 11 Question Id : 719650171 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Assertion (A) : 3x" — 16x + 4 >—16 is satisfied for some values of real v iu{ Og]
3
Reason (R) : ax’+bx+c¢ and a will have the same sign for some values of x € R

when 5 —4ac >0

QBHSSIIW (A) (0,?}@* §R), TS x LSO 3= 16x +-4 516
DHD WolVol.
so8eso (R) : b’ —4ac >0 ©oudW, x € R §Q) dwodwsd ax’+bx+c,

QoS® ad %S Nogs SO0 eobrow.

The correct option among the following is
&2 5ol QTS LOGRIL
Options :
(A) 1s true. (R) 1s true and (R) 1s the correct explanation for (A)

(A) g0, (R) He8g0 506050 (A) & (R) 1B D88Es
.

(A) 1s true, (R) 1s true but (R) 1s not the correct explanation for (A)
(A) O30, (R) 3g0 3R (A) § (R) 00 2508 5760

3.
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(A) 1s true, but (R) 1s false
(A) O30 5°Q (R) 000

|:_.|J
b

(A) 1s false. but (R) 1s true
(A) 93830 =2 (R) O30

Question Number : 12 Question Id : 719650172 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If the roots of the quadratic equation ax” +bx+ ¢=0 are imaginary, then for all real

values of x . the minimum value of the expression 3a’x" + 6abx + 2b° is

ax® +bx+ c=0 I8 JETero AE), SFOSNL SO DPUSNOS, 85 6D B, TR
Denden x X, 3a’x? + 6abx + 2b7  LHaSPdSN CI0%) SR v
Options :

< 4ab
> dac

> —4ac
3.

< —4ab

Question Number : 13 Question Id : 719650173 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Let &, f3. 7 be the roots of the equation x” + px + ¢ = 0 and

f(x) = 3p°x* + p’x +3¢. Then Za:ﬁ+zfx“:

a, B, yewo DNEG@SN X+ px + ¢ = 0 By HroSnw $HO0%W
Flx) = 3p°x + plx +3q ©H%owro. ©3) Yoo Zajﬁ‘-f-z.ff =

Options :

Question Number : 14 Question Id : 719650174 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

If e, /3. y are the roots of the equation x° +ax” —bx+c=0.then Y S (y+a)=

a, B, y o 880 x° +ax’ —bx+c=000E, FLSNOD, W) )G Zﬂﬂ(:,+ar):

Options :
.
a +b—c
ac+b’
) %
5
be+a®
3ab
% ®
ab + 3¢
4 o

~

T
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Question Number : 15 Question Id : 719650175 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If the number of all possible permutations of the letters of the word MATHEMATICS

in which the repeated letters are not together 1s 982(X), then X =

DTS YB0S EBSNLN EOD Gt DorP MATHEMATICS H0e5'D e00rwes® DS3G
©9), DTS PSSV Dowg 982(X) wond, ©yE X =

Options :
5040
1.v
14400
R
21600
86400
4 %

Question Number : 16 Question Id : 719650176 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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There are 10 red and 5 yellow roses of different sizes. If x i1s the number of garlands
that can be formed with all these flowers so that no two yellow roses come together

and v 1s the number of garlands formed with all these flowers so that all the red roses

. 2(x—y)
coming together. then —g

10 QD SHOAKN 5§ HQ HIQ Kerd Yraw SWSH Rezwes® Gy ow. o Botd DY)

DR () QP 203 W€ T°R0G° &2 Q) WPeHWS” oS NOSHL Dok Doy x 20OAKW

DD BRI B 23 T SDy DWorP ©) JYrwes® DS GO Sotie oy ¥ LONS,
2(x—y)

STFONeY [ —:

Options :

L

3!
[

(11)°-(4Y)

Question Number : 17 Question Id : 719650177 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

3 35 357
It y=—4% g - « then
" 4 4.8 4.8-12
3 3.5 3.5.7 :
)= o S 7 O0NED 9:) \Ged
4 4.8 4.812 e

Options :

~

T
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1™

Jz+2y—?:0
4

y —3y+4=0
3. %

¥ +4y—-6=0
4. %

Question Number : 18 Question Id : 719650178 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

5

(1+x)

(1=2x)

is Ax2" then A=

If the coefficient of x" in the expansion of .

Seacs x 0¥y, et Ax2" wond, ey A =

¢
Q"’x

&9
bes

Options :

862

| ®
1304
1360
1724
4.

Question Number : 19 Question Id : 719650179 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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x?+1

If the partial fraction decomposition of — 1S

Y 435+ 3% + 2

B + — = - E ;e A—B+C=
X+ 2 x+x +1 (x + 2)(x" +x + 1
&4 oy, FAE DSy, Do
X + 3x + 3x + 2
C
L+ - B - 5 WOND, ®YYW A-B+C=
x + 2 x“+x + 1 (x+ 2)(x" +x+1)
Options :
0
|, *
V.
7 #
3
3 ®
4
4.9

Question Number : 20 Question Id : 719650180 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If J;+i: 2 cos 0. then xX°+ x° =
Y

e

Jx +

| T

T: 2 cos 0 ©wowd, 8P x°+ x =
X

Options :

2 cos 66

2 cos 126

~

T
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2 cos 36

2 s 30

Question Number : 21 Question Id : 719650181 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

: . 99, 100
If A=51119‘51119|‘ B =cos (—)|cosB‘ and 22 < 0< ?;r _then
: , 99 100
A =sin6|sin6|, B=cos Blcosh| Sooa Tﬂr ekt ©OWD, QY Y
Options :
A+B=1
1. %
A+B =-1
) I
3.9
B-A=-1
4 %

Question Number : 22 Question Id : 719650182 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

cos(6, +8,) cos(8, -6, )
_i_

If .
cos(6, —6,) cos(6,+8,)

=0, then cot®, - cotf, - cotb, -cotO, =

cos(6, +6,) cos(6,-6,)
. " =0, wowd, @y cotb, - coth, - coth, cotd, =
cos(0, —6,) cos(8,+86,) -

Options :

|
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R4
2
3. %
1
2
4, %

Question Number : 23 Question Id : 719650183 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The equation sin*x—(k+3)sin°x—k—4 = 0 has a solution if

sin*x—(k+3)sin’x—k -4 = 0 DLW 2.8 FEID O Gotrwols
Options :

k>4

| ®
-4 < k £33
2.
k 1s any positive integer
k BT S QPgrodSn
3 ®
k=0
4. %

Question Number : 24 Question Id : 719650184 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Let Z denote the set of integers. Then match the items in list - I. with those of the items

m List —1II

Z QPTPosL DB APAW0W 9:dB00wrs. 80 | &' 9oz e I 'R wéded”

23900006

A) Sin™ [

)

B) Sin™* [

©) Tan‘l(sec£+tau£]
4 4

D) Sin™ [sinx| = \/Sin" sinx| = xe

The correct match is

OGN %
Options :
A B C D
V I I11 IT
| ®
A B C D
IV II V I
2. %

) kxx1, keZ

3
I11) =

R4
IV) —
) 8

a
2
L

V)

gcollegedunias
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3.

IV II V I

Question Number : 25 Question Id : 719650185 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : (

Sinh™(-2)+Cosech™ (-2)+Coth™ (-2)=

Options :

log
24/3
4
: T
O | ——
23
jaié
7+ 345
log
24/3
’g_i&
3+4/5
log
2+/3
4 %

Question Number : 26 Question Id : 719650186 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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InAABC.if a: b: ¢ = 4: 5: 6, then the ratio of the circumradius to its inradius 1s

AABCS a: b:c = 4: 5: 6 20008, 095w D07 G050 w0 @o0argrdsnss
g (o NS

Options :

1827
. ¢

7:16

b3
®

Question Number : 27 Question Id : 719650187 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

. 3 C 3 14- . 4
In a AABC, if 5=10, acos” —+ccos” — =15, and the area of the triangle is

. B
1543 sq.units, then cot?

A
2

wf Subusn ABC &, b=10, HCOS;}'%+CCDSE =15 S0 Sabx JTogo

—

_ ) B
13\5 a‘uoinﬂ%..}y OO, cot?=

Options :
-
J
2
1. ®
1
2
2. %

~

T
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2

by

5

NG

4.

Question Number : 28 Question Id : 719650188 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If d,, d,. d, are the diameters of three ex—circles of a A ABC, then

d.d,+dd+dd-=

d,, d,, d; ©o A ABC G30%). il 27807 3eS Y SaSnw aPglesnOe, @) )6
dod,+d,d,+d,d =

Options :

-

(a+b+c)

ab+ bc + ca

2. %
4A-
= ‘#
.
2s°
4. %

Question Number : 29 Question Id : 719650189 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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A(a). B(ET ). CLE ). D(E) are four concyclic points, such that

0 where x, Vv, Z, I are constants not

.TETJ’E—P—:Eé-."GT—: 6~.1‘+,1‘+:+r

all zero. If the chords AB and CD intersect at P, then

X, ¥ 5 0 Q) EPdge FIE QOTPHLY YOI, ¥ a + ¥ b +z¢+td =0,
X+¥+z+1 = 0wchydotn A(7).B(D). C(7). D(d) Tenth SES805 Dothehen.
AB 0030 CD exgen P 6 oGovS ool W) G

Options :

kol f@a+ef = |z [p +d
| %

|.r_1'| ‘E = 5‘2 = |: r\ ’; = gz
2. v

‘x r| ‘ﬁ = Er = ‘_v: ’5 —?2
3 %

ko [B+d] =|vdfa+ef
4 R

Question Number : 30 Question Id : 719650190 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If @ and b are two non collinear vectors, then - represent

- ax (bxa
a 0K b e Totd) LTWANET DAL WOWND, B E: ) AP Do
a

Options :

a vector perpendicular to the plane of @ . 5

a,b g SOSNIN Lo Gols al V&Y

~

T

Is Question
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projection of b along a vector perpendicular to the vector @

d ORI Voo Gole 28 VAT JoG b W) LEDBN

3.
projection of @ along the vector perpendicular to b
b § LoworP &ol DAY Joel T AN DEDSW
3.5
a vector on the plane of @, » whose magnitude is equal to |E‘ +’5 ‘
@ . b Gy B, Hosrasw [a]+[b| o et vas
4. %

Question Number : 31 Question Id : 719650191 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

IfA(1.2.3),B(3.7.-2).C(6.7.7)and D ( —1, 0, —1) are points in a plane, then the

vector equation of the line passing through the centroids of A ABD and A ACD is

A(1,2.3),B(3.7,72).C(6.7.7) 0050 D (—1. 0. —1) e 2.5 $0o5'0 olHOSD,
@& A ABD 00ainw A ACD S0dd 2P0V (Dot FAl O ATy D&F DNTED

Options :

| %

J_=(I+r);+3,r+3rff
2.9

;=§+}+E+r(2§—})
3. %

;=2;—}+r(}+4ﬂ
4 %

Question Number : 32 Question Id : 719650192 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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-
hy

If a=i+(tan®) j +

vectors and c¢= (sin20) 7i—2j+2k makes an obtuse angle with X-axis, then 6 =

. e 3

a=i+(tan®) j + -
SI —
\ 2

/

- — e &) 8 )=
T2 k and b = tan® ( j—f)— 2 sm;J k are orthogonal
1’sin— - g
NV 2)

k 56050 b = tan® (}—;)— 2,’ sin% koo wozoseiod

DOI ©HEF OO c= (sin20) i—2j+2k H&¥, X-0foes ol 06 §ard) Dol

) 0 =

Options :

(2n+1)7+Tan"' 2,neZ

nt—Tan " 2,.neZ
).

(2n "'l)f?'—Tﬂll-l 3.neZ

4, ®

(2n+1)r+Tan"3.neZ

Question Number : 33 Question Id : 719650193 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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If a.b and ¢ be three non-coplanar vectors and p. ¢. and r be defined by

e s g
E a-(bxc) ! b-(cxa)

axb
——— = ‘smeh that
c-(axb)

(a+b)-(b+c)x(a+b+c)

= ., thena+f=
b-(axc) g

a=(a+b)-p+(b+e)-q+(c+a)-r and B=

a,b.c w0 P& BN DL SHOOW

(a+b)-(b+c)x(a+b+c)

a=(a+b) p+(b+e)-g+(cta)-r oA f=

b-(axc)
O 2. q NO0W 7 LD ;:_ bj(c_ : E:_Ef”_ ! ;:_nj:b_ 9
= a-(bxc) b-(cxa) c-(axb)
RO, VYW a + f =
Options :
2
1.v
3
7 R
4
3. %
0
4, ®

Question Number : 34 Question Id : 719650194 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If a+1b+1"¢ =0 and axb +bxc +cxa =3(bxc), then the minimum value of such
[ 18

a+1b+1"c =0 306050 axb +bxT+xa =3(bxT) wond, 9 ©&ratd | B,

25 §@5‘3 DS

Options :
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2.
-9
.4
3. »
0
4. %

Question Number : 35 Question Id : 719650195 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The mean deviation about the mean for the following data is

& $o0 BEPoISNSK, 503 DBl S HSVIIN

(C'lass Interval
SHEHBS ©oHSIN 0-4 4-8 8-12 12-16

Frequency X
L RBORIINAS 4 3 - 1

Options :

6

. *

3.6
2. %

3l
3.¢V

10
4. %

Question Number : 36 Question Id : 719650196 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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The means of two groups of observations A and B are x. v respectively and their

standard deviations are respectively 2 and 3. In order that the group A is to be more

. v
consistent than the group B = >
¢

Toll) ReNTPOLAENED A OGN B & ©oSddiizaeinty S x. ¥ o0l P&

LaDDIOTENL) SETP 2 HOAKW 3. VaTPORe A, DNEPoe B S0l ad80y S JUEE

0050 PS8 = >
N

Options :
-
.
2
| ®
5
|
2. %
2
3
A
6
5
4 ®

Question Number : 37 Question Id : 719650197 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
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When two dice are rolled. let x be the probability of getting a sum of the numbers
appear on the dice is at most 7. Let y be the probability of getting a sum 7 at least once

when a pair of dice are rolled n times. In order to have y > x. the minimum n is

Toley FRFUD TR, FTUD L& @ole o (1020 7 ool Dozrls® x
08T, 2uf 228 P AEUD N PO FoRIDE0 FEUD 06 WoSu o 7 § DaICSew

wlgbio SAV0 ol FQoe’ 2200 Neerdy® ¥ @nbielralld. ¥ > X 5dmrRS S0 n e

Options :
-
3
1. %
6
2.8
:
3.¢
4
4 ®

Question Number : 38 Question Id : 719650198 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Two numbers are selected at random from the set {1, 2. 3. ........ 13}. If the sum of the

selected numbers 1s even, the probability that both the numbers are odd 1s

o {1, 2,3, ..., 13} 0ol QSE 0380l Bolld Dogadd o WP, wod¥ DS
Noge SNGEn HONowg VOND, & Tol) VoW BVVWILN IV DozTrdgd
Options :
2
13
|, %
2
2
2. %
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Question Number : 39 Question Id : 719650199 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Let X be the discrete random variable representing the number (x) appeared on the face

of a biased die when it 1s rolled. The probability distribution of X 1s

QP )Y R.I80 5°Q 8o aPIED G QoG WP LSVAWRBND S5e0% VoBg(¥)) APDow VD)V,

QPR YRS Worr X @0800wean. X i) Qotirdgs Qeesian

X=x

1

(S

3

6

P(X = v)

0.1

0.3

0

4
)

5

A..

Then variance of X 1s

10 90y (X)=

Options :

1.64

<

Question Number : 40 Question Id : 719650200 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
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2n unbiased coins are tossed. The probability of having the number of heads is not equal

to the number of tails 1s

21 QP8 THOD NVESPE. 855y © VoRg, WERD © VowgHd VSTTo 8 PV

Mo “ﬂaﬂ“aﬁ%@

|_K
2n!
= 2
(H!)
) %
2n!
(w!)2
]_K
| 2n! 1
(nl)" 4
4.

Question Number : 41 Question Id : 719650201 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Let p (x) represent the probability mass function of a Poisson distribution. If its mean

.= 3.725, then value of x at which p(x) 1s maximum i1s

P (x) 2¥ POz e0°edin i) Voardgd Qdg R0Ird) APISERo, WP
$08gedde 4 = 3.725 00w, Q)0 p(r) H0Qe ©CIget¥d (o x Gl Vs

Options :
2
| %
3
3w
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Question Number : 42 Question Id : 719650202 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : (

LetA=(0.4) and B=(2co0s0,2s5m8), for some 0<0 < ;i Let P divide the line

segment AB in the ratio 2 : 3 imternally. The locus of P is

A= (0,4) 0050 & 8§ O{sz%& B =(2c0s0,25in6) ©0%cw0. AB dar

o) 23 @&Q@@G P ©0880orr 3}0@3:@.}0&5}50063‘0. P Cﬁ))ﬁ& g)ol0@o

Options :
Circle
1. S9Ge
Ellipse
03 ySo
2. ® -
Parabola
410 LNTSTOVIT
3 8
Hyperbola
T4 To NS0V 1)
4. %

Question Number : 43 Question Id : 719650203 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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The transformed equation of 3x” — 4xy = °. when the coordinate axes are rotated

through an angle Tan™(2) is

-

AErdE wfSvod Tan'(2) e aatio WoloRdSE, 3x™ — 4xy = r oy,
O PodOes aE0eaad0

Options :
2 o2 5
X =Y =y
1. %
XY 4 =10
7 ®
4&?’2 g Xz -— rl
3.
e
XY = o
4. %

Question Number : 44 Question Id : 719650204 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
If xcosO + ysm0O = p 1s the normal form and y = mx + ¢ 1s the slope - mtercept

form of the line x + 2y + 1 =0, then Tan™ (tan O+m+c)=

x+ 2y +1=0 Co cwd) wauow Crde xcosh +ysmb = p HDOAW Trew-

@000l SFDe ¥ = mx + ¢ ®owd, & Tan™ (tan O +m+c) =

Options :
0
| ®
/2
2.8
T
3.5
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Question Number : 45 Question Id : 719650205 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If the family of straight lines ax + by + ¢ = 0. where 2a + 3b = 4¢ 1s concurrent

at the pomt P (/. m). then the foot of the perpendicular drawn from P to the line

x+y+1=0i1s
2a + 3D = 4c ®ONIYYW ax + by + ¢ = 0 IO S Soéozoe P (1, m) 200lle))

S0 ©DRFo WoD, WYY P Dol x + ¥y + 1 = 0 SH HS Losvartdo

Options :

%)

1. ¢

23)

58
2. %

(3,—4)
3 ®

(—5.4)

4, %

Question Number : 46 Question Id : 719650206 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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O (0. 0), A (-3, —1) and B (—1, —3) are the vertices of a A OAB. P is a point on the
AP

. 3 :
perpendicular AD drawn from A on OB such that =—. Then the equation of the

line L parallel to OB and passing through P. 1s

0(0,0), A(=3,-1) 050 B (-1, —3) v A OAB caw?), 3080e. %:i WODEIENTT

A Do& OB 2 HDS wozos AD » P mé& A LTAVIN &L):Q)QCQ.) OBS$ Q0e5Pe900rP Gotar

G

0O P ooz 0l S L ciwd) a0Edeic

Options :

3x—y+3=0
[ %

21x—T7y+32=0
2.v

15x—5y+32=0

Question Number : 47 Question Id : 719650207 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
A straight line passing through the point (1. 0) and not parallel to X-axis intersects the
curve 2x°+ 5y°—7x= 0 at two points A and B. The angle subtended by the line

segment AB at the origin 1s

(1, 0) Dot how FEP, X-0mmd ISTFeBGaT O o DOV SESw

2x% + 5)° —Tx= 0 & A 6050 B 8 8ot 2otieHL £ Do6uod. SdPe o) B¢
Sare ot AB B30 S

Options :

30°
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60°
3. %

90"
4. ¢

Question Number : 48 Question Id : 719650208 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If (p, q) is the centroid of the triangle formed by the lines 8x° —14xy + 5y° = 0,

x—2v + 3 = 0, then

8x* —14xy + 537 = 0,x-2y + 3 = 0 32D IS% SeDe20 G0, SoErosD
(2. q) ©OWS, &

Options :

ptg=—1

|_$€

q=2p
2.8

D=4
3_3&?

p=q
4 o

Question Number : 49 Question Id : 719650209 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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The area (in sq. units) of the triangle formed by the two tangents drawn from the
external point O(0. 0) to the circle x>+ v — 2gv — 2l + h* = 0 and their chord of

contact 1s

X+ 37— 28y — 20y + I = 0 S)TP08 @iy Dotinal) ©owsS O(0, 0) o AR Dot
800 8 038 wPges’ DG Sabe FTuge (511 SrAGS')

Options :
gh
h + g*
| %
gh
o+ g’
)
hg’
P + g’
3. %
ol
P+ g’
4.

Question Number : 50 Question Id : 719650210 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

If the circle x*+ 3*— 6x + 2v = 28 cuts off a chord of length / units on the line

2x — 5y + 18 = 0, then the value of £ 1s

Sy x*+ 37— 6x + 2y = 28,3 2x — Sy + 18 = 0 @ A F&Priv a8 argd
DO, BaYYE A AT Jewss

Options :

3
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12
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9
4. %

Question Number : 51 Question Id : 719650211 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

S, x*+ y" —4x +10y + 19 = 0

_

If the polars of the centre of a circle with respect to the another circle are L; and Lo,

then L;, L, are

S, :x*+ y*+2x +8y — 23 = 0 00w S, :x*+ y*—4x +10y + 19 = 0
BDSNOD S0, W Sy Soleid CIE) GyS0W, F Sy Hore Ly SH6CKD
L vewonad, s, Loew

Options :

Parallel and separated by a distance of 4 JI—O units

DTS dodar 44/10 O G owd SEAOHMEERON

1. ¢

Perpendicular and intersect at (1. 3)

Lo2ol® oo (1, 3) &')Cé olsownS odPow

b
&

Perpendicular and intersect at (1, — 5)

Qoo™ ot (1, —3) S WolowddS otraow

~

T
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Parallel and separated by a distance of 2 V10 units

DT8P dodar 24/10 OKrRd Erod SEAADGERow

Question Number : 52 Question Id : 719650212 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

. e o : ; ; s IND
If the circle S =x"+y” —4 =0 mtersects another circle S'=0 of radius i m such

: ; : 1
a manner that the common chord is of maximum length with slope equal to i then

the centre of S'=0 1s

GG g G (5650 ©HEF, s %é eSS wabgttnr S=x2 4y —4=0 o

S/ 2
% 3%, 52

Sogsas

TG 0 §' =0 ©F SyBsn BB, BRI Sy §'=0 @0

Options :

(-1, 4) or (1,-4)

5% o5 N2
g J 2
3 %
(4,-1) or (-4,1)

Question Number : 53 Question Id : 719650213 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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If the angle between the circles x*+ " — 4x — 6y + & = 0 and

; m .
X+ +8 -4y +11 = 0 is ;,theuavalue of k is

X+ —4x — 6y +k = 0 000 x*+ 3 + 8x — 4y + 11 = 0 Sydswe Sy

S0 % wowd, B & k I Jend

-

Options :
&

e
. ¢

36
2. %

=

3
3. "
4. %

Question Number : 54 Question Id : 719650214 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Let A(l. 2), B4, —4), C (2,2\/2_ ) be points on the parabola y°=4x. If a and S

respectively represent the area of A ABC and the area of the triangle formed by the

tangents at A. B. C to the above parabola, then af =

¥ =4x Soesoohep A(L, 2), B(4, —4), (2,22 ) RotiaHew ©D%emro. o SO0 f &
SBo%P A ABC iy, Sreeogain 6050 A, B, C o $6 & HoeSuosn 03880 833
SaD% JPOISNVR VPR, W\ aff =

Options :

6
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0
3

62
4. %

Question Number : 55 Question Id : 719650215 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
If x — 2y + k = 0 is a tangent to the parabola 7 —4x — 4y + 8 = 0. then the

slope of the tangent drawn at (/. £) on the given parabola 1s

V—4x — 4y + 8 = 0 doeS00iPRs x — 2y + k = 0 280500 wond,

WY& G Borsooho (1. k) S$& HAS V60w ren

Options :

-
2
. %
2
7%
-2
] ®
2
5
4.9

Question Number : 56 Question Id : 719650216 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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The equation of the ellipse in the standard form whose length of the latus rectum 1s 4

and whose distance between the foci is 4-\/5 .18

T2 Dol FPkad) 4 SOCSN Trabe ahdg drde 42 500 BES yB0 Ay, ESEse,

P S ErdoeS
Options :
2 2
X V
2 3
|, %
2x* +y°=8
2%
X+ 2}*2 =16
3.

x> +5y°=25

Question Number : 57 Question Id : 719650217 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The value of 57 in order that the foci of the hyperbola LIPS . 2 and the ellipse
144 81 25
df 1,: =1 coincide is
16 b°
oavosuansm — — L =L g8 oo 0w b8y T+ L =1 aaws
.» 144 81 25 me IR
TR 2IERID0WEEVS b D) s
Options :
1
| ®
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7 B
7
3.9
9
4, ®

Question Number : 58 Question Id : 719650218 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If the pole of the line 3x—16y +48 = 0 with respect to the hyperbola 9x° —163° = 144

is (a,f). then a— f =

OIHTSUONSD 9x* —16y° = 144 D8orr, 3x—16y+48=0 B A& SHYSSN
(a.f), 0o0nd, ®\& a— L=

Options :

=
2. %
2
5.V
~7
4 &

Question Number : 59 Question Id : 719650219 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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A(2.3.4).B(—3.3,-2).C(-1.4.2)and D (3. 5. 1) are the vertices of a tetrahedron.
If E. F, G are the centroids of its faces containing the point A. then the centroid of the

triangle EFG 1s

A2,3 -4 B(-3,3.-2,C1,4,2)06000D (3,5, 1) evas ﬁﬁié&é@ Cﬂnga.
30dwen. A 2 500 &) dnadne sy Sof e E. F. G e 90wd, 9

Salesait EFG cowd), Eog':a%m

Options :
(1 15 —3]
9° 9 9
|
(l 15 —3}
4’ 4° 4
7 ®
[i 11 —10)
9° 3" 9
3.¢
L
9" 9
4, %

Question Number : 60 Question Id : 719650220 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If I, m, n are the direction cosines of a line which makes angles &, 8 and y with the

coordinate axes X. Y, Z respectively, then /m + mn + nl takes the maximum value when

X. Y, Z 0508 o&Snwes” S0P a, f, 7§50 W O cdol)y &8 S 1, m, n
©OWS, WYY Im + mn + nl B50Q B0 SFI) D

Options :
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a, [, y are in Arithmetic progression

a, B, v w0 ¥ G Gotrrow

2.v

any two of o, £, y are the same

a, B. 7y o SoGend Qa0

s

one of e. A, y 1s zero and the remaining two are non-zero and unequal.

a. fB. 7y oF i T°) , OO Toler 338 0o OGN @0SrSo

Question Number : 61 Question Id : 719650221 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The combined equation for a pair of planes is
S=2x"—-6y" 122"+ 18yz + 2zx +xy = 0.If one of the planes is parallel to

x + 2y —2z = 5, then the acute angle between the planes S =0 is

28 BB BUSNL GG DAWETESW S = 25 6y° 122" £ 18y 4 22% £%y = 0.
S al Suo x + 2y =2z = 55 JreSlorP &oll, @) W S = 0 Sudww g
(o oy $ae.

Options :
Cos™ 10
(21
1. v
T
2
7
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F.JJ

-l
Sin U—qJ

Question Number : 62 Question Id : 719650222 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

f: R" — R be an increasing function such that 7 (x)> Oforallx.
f(6x) _

0:
If Iim le. then m ———=
x—x f (3x) x—>% f(3x)
o) x ON f(x)>0 ocbgdnr f: RT - R 2l addra ddooisn.
f(9x) . f(6x)

Im “—— =] o, o) \éd llm —— =
X f(BX) N r—}ff‘(_gn)

Options :

1.
2
7w
=
3
2
3 ®
2
=
k|
4 ®

Question Number : 63 Question Id : 719650223 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Let [x] denotes the greatest integer less than or equal to x. Then

Py 1+sin([cos x]) 6

cos([sinx])

x Sot3 50y, 8 S x § DafrSo g (165 QPTPosRy, [x] HPRK0E ©DEE o, B

_ L+sin([cos x])

J(x)=

cos([sinx])

Options :

: g
continuous on [0‘ ?J

(o.i]@ ©DYS) 0

Z )
1. ¢
contiuous on (0,7)
(0, }’Z') o) @@‘DQ‘SJG
7 %
: : 3r
discontinuous on | 7,
B )
To— | @ QDY®) 0
"', a_
—
3. =
continuous on (7,27)
(7,27) D ©00)d) 0
4 %

Question Number : 64 Question Id : 719650224 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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. 1-3[y _
For x#—-Ly#-11f x= \F then dx _

l+%/;_-' dfv_

-2/ A
x#z-lLy#-18§, x= \/1_ ot P8
1+3y dy

Options :
-6(1-x)?
(1 +x)*

—(14+x)*
" 6(1 —x)2

4(1-x)’
(1+x)°

|:_....'|
b

—6(1+x)
(1-x)’

Question Number : 65 Question Id : 719650225 Question Type : MCQ Option Shuffling
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

2
Assertion (A) : Forx <0, a ~(log|x|) = 1}
o M)~
Reason (R) :Forx <0, |x|=—x
- d* l
DBYBBS0 (A) 1 x <08 —(loglx|)=—
dx” M
sSeso (R) x<038, |x]=—x

The correct option among the following is

& S0l DRYFOST JOGI®

Options :

: Yes Display Question Number : Yes

~

T

Is Question
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(A) 1s true, (R) 1s true and (R) 1s the correct explanation to (A)
(A) g0, (R) D850 OGN (A) § (R) 1835 08Ces

(A) 1s true, (R) 1s true but (R) 1s not a correct explanation to (A)

(A) $850, (R) H%930 £ (A) & (R) H0S 28880 S

!'-J
¥

(A) 1s true, (R) 1s false
(A) :.)6550, (R) @:&éso

s
E

(A) 1s false. (R) 1s true

(A) &850, (R) Hebgo
4. <

Question Number : 66 Question Id : 719650226 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

0 oo Byl =, B ¥
dx”
2 2 L
ax” +2hxy+by” =0 ©ond, ©Q) ) 5 =
)
Options :
h* —ab
(hx+by)’
1. %
2(.?;'1 —nb)
(;’:x+b_v)3
2. %
(}?:c+b*1-')3
h* —ab
®
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4.

Question Number : 67 Question Id : 719650227 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The number of points on the parabola v° = x at which the slope of the normal drawn at

the point 1s equal to the x — coordinate of that point 1s

)

- =¥ éU‘“éﬁ.}GﬁJo;ﬂ, WS 2olN) 5@ HRAS VP02 OP Cﬁl.)ézr PV, & 2olled) X
QU DEINIH Daiirdo @O EHNEE 2olDa)L Doy

Options :

S
| ®

1
1w

2
.}- 'H.‘ﬁ'?

0
4. %

Question Number : 68 Question Id : 719650228 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Let o, f be two roots of the quadratic equation x” +ax—b =0, b# 0. If the straight line

® .T H | ! l" 0
xcosO + ysmO = C touches the curve (—] + (iJ =2 at the point (a. f). then
&,

a, f o S80S0 x*+ax—b=0, b£0 CDE Told DFOSVLY DY o.

xcosO + ysmO = C IO, 53w [i] + (é] =2 D (a. f) S 339300
A
| ay. 3
O\ | — | +—=
~d (b] ;
Options :
1
2C°
|, ®
4
c
2 o
2
C2
_‘J.36
1
c?
4 %

Question Number : 69 Question Id : 719650229 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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The number of admissible values of C obtained when the Lagrange’s mean value

theorem is applied for the function f(x) =x on[2. 5]is

[2, 5] R OPods Socbgesd g VTPoBSND f(x) =¥ 8 ©HSGoRSE Toeel C iy,

P&°8 SO SRR

Fe/

Options :

0

o

nly one

S 2.5

E.:l

infinite
@3cf80

finitely many
T TVL

Question Number : 70 Question Id : 719650230 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The function f(x) = x’ — 4x° + 4x + 3 defined on [-1, 3] has

-
a

—1. 3] 35 SO DoDBIES x) = ¥ — 4x* + 4x + 3 HHOHSW
[ S S

Options :

minimum value —6 atx=—1

¥ =1 S5Q EAQ S —6 B OO ool

R4
minmmum value 6 atx =3
x=3 3& §@a"§ DS 6 D LA Gotod
2. %
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mimimum value 3 atx =2

x=2 3@ §<%§é_} DS 3 N OO Gobo®

3. %

maximum value 9 at x =3

x=3 & (0RQ ek 9 R EOH &oliol
4, ®

Question Number : 71 Question Id : 719650231 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

J- Tan™ x .

3
X

Options :

—(x2+1)

Tan x— *, 4.

2X 2x
| ®
—(:{‘1 +l') » 1
5 MR "1
2541 X"
2. %
=1 [1 2
——l—~+ — T 2
2% AR o
3.¢/
I 5
+——Tan  x+C
2x: 2x°
4, ®

Question Number : 72 Question Id : 719650232 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
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2019

1—(cotx) 1 n "
I | mrdv=— In |(£(x))+ (e (x)
tanx+ (cotx) n

+¢. then the value of

2019

J- ] —(cotx) . lill(f( )) e (I.])r.-

tanx+ (cotx) n

A (£(x)' +(e()'] =

L : E

+ ¢ VoD, VYW

Options :
10105
16
1. %
10012
15
2. &
20210
3. % 9
10105
8
4.9

Question Number : 73 Question Id : 719650233 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

~
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(.ra +x° —x —l)
dx=A log( f(x))+C

If x#-1and _[

| %%y
(:nr.5 +xt 433 4322 +x+1)Tau ‘( - ]
Y

then A— tan(f(2))=

el T M |
( )
dx=A log( f(x))+C

x#—1 605w j

-

3 ¢l X +
(xs+x4+3x3+3x'+x+l)Tau 1( ]
X

©owd, Y W A— tan(f(2))=

Options :
"
==
2
1. ¢
-1
Z
7 8
¢
3. - -
<2
4, ®

Question Number : 74 Question Id : 719650234 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
I, = I.r” sinx dx and 7, —360 I, = f(x)cosx+g(x)sinx, then f(1)+g(1)=
I, = [x"sinx dx $060% I,—360 1, = f(x)cos x+g(x)sinx wowd, ©lpyi

f()+g(1l)=

Options :
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Question Number : 75 Question Id : 719650235 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Y sinxdx =

O ey 1| 5

Options :
2

.
7T
——37+6

32
L

4
4.¥
Question Number : 76 Question Id : 719650236 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

"
2

71 rl “'-.n
Lt II |1+ — =
n—»x r=l 1"

Options :
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| %
2
log| —
\ €
7 ®
2
e
3, ®
4
e
4. ¢

Question Number : 77 Question Id : 719650237 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The larger of the two areas into which the circle x* +y* =164 is divided by the

7 i
parabolay” =6ax 1s

Yi=6ax HooS000eRS LafodwiS x7+)° =164 SyBS0 g  Bo
ISEISIINWISTSRTAT
Options :

or- )

D
1. &

3
2.%
2a’
(47++3)
3
3. %
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Question Number : 78 Question Id : 719650238 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

: : : . = A 5 :
The differential equation for which +/1+ 1> = Cxe'™ * is the general solution, of

V1432 = Cxe™ ™ 9 Sy PiSP BOBS @858S HESesn
Options :

xv(l + 1‘2)0’_}'—9“”_13((1 +x +x)dx =0

1. %

(1 +3)d -1+ ) +y +y)dx =0
2. %

(1+y*)Tan™" x 2]
- X Xy

(1 + x)dy—(1 +y)1 +x + x)dx = 0
4.

Question Number : 79 Question Id : 719650239 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

, - : . dv x +v-3.
The general solution of the differential equation d = ' : 1S
X X 49—

T
W _T ¥ V73 o808 0iSnsn aody, 3y PES

ax x +y-—7

Options :
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2

(x +y -5) =C&™

T

2log (x+y-35) = 3x+2y+C
3. %

log(x+y-3)= 3(:«'+_1?—2)2 + C
4 ®

Question Number : 80 Question Id : 719650240 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If y=f(x) 1s the solution of the differential equation r%z.rz-i-b‘t x>0
x
y(2)=4,then f(4) =
Yz—1 =x" 43y, x>0, ¥ (2) =4 5508 S8 By, PSS v = f(x) 0w,
hY

Options :

48
1.
260
o
80
3%
36
4 B
Physics
Section Id : 7196505
Section Number : 2
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Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Display Number Panel :

Group All Questions :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Online
Mandatory
40

40

40

Yes

Yes

Yes

]
7196505
Yes

Question Number : 81 Question Id : 719650241 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The scientific principle that forms the basis of the tokamak technology 1s

E'P50°8 FPoSBAS WTEaidaS TR O Qg

Options :

Controlled nuclear fission

Q0% HOAS S0 DDYS

1. ®
Motion of charged particles 1n electromagnetic fields
DE0ZRONTY 0 ESFPOS WO WaIBS e
2, %
Magnetic confinement of plasma
BONTY 0BT HOWBo OGS Py
3.¢
Superconductivity
ATEIEBDINW
4, ®

Question Number : 82 Question Id : 719650242 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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If £ and Eo represent the energies. 7 and fo represent the times, i which of the

following 1s dimensionally correct relation?

1 350050 fo SR, SCOTP E SH0050 Ep 0 35000 90, €8 Sob PedS” 0 057850
oINS

Options :

E=Foe ¢

E = Eotge /%o

2, ®
E =Eﬁf{}€_t2
2, ﬁ
E:Ene-t/’rﬂ'
4.¢

Question Number : 83 Question Id : 719650243 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A ball 1s dropped from a bridge that 1s 45 m above the water. It falls directly into a
boat which 1s moving with constant velocity. The boat 1s 12 m away from the point of
mmpact when the ball is dropped. The speed of the boat is

(Take g = 10 m/s?)

28 20083 AE GHOBLoR Dol 45 M I &I BB Sobs LPEDETE. VYL & 200D
NeVelivle 3t5e500e8° HOIPEBOT), wE D" VESD. WoBQ 2PEIERS DaSO0DS” DESK
00080 200€ DeTrSSn WS (point of impact) PI5050 Sodg Gorde 12 M. WONS HES
QJE), 39S

(g =10 m/s* S5 Se&s)

Options :

2 s

~

T
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3 nvs

5 E Y

4 m/s
3.9

Sm/s
4, %

Question Number : 84 Question Id : 719650244 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

A ball 1s dropped from a height H from rest. The ball travels % in last 1.0 s. The total

time taken by the ball to hit the ground 1s

w8 woB H oI ol Q0PBES” $o08 sPGAG0TM. & W0 IS0 1.0 JED 00’

H

5 &rdo émo 5@55}@ &3 20063 2IPD SRR ?’0@@ Ma Lo

i

Options :
3.85s
L, *
341 s
2.¥
2358
3 %
465s
4 &

Question Number : 85 Question Id : 719650245 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
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A planet 1s moving n a circular orbit. It completes 2 revolutions m 360 days. What 1s

its angular frequency?

2u8 (JEP80 Y5l SX 3" DOUIVD. Bd 360 Sz 2 HOJETLD PO WS T
I, §°EB0DH TS0

Options :

1.5 x 107 rad/day
1.5 X 1072 3GOHS / 6=

[,

2.5 x 107 rad/day

2.5 X 107> 3&oHs / &es
2%

3.5 x 107 rad/day

3.5 X 107 3G0%s / 8z
3

4.5 x107? rad/day

4.5 x 107 BGod / 8z
4 %

Question Number : 86 Question Id : 719650246 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The vector sum of two forces 1s perpendicular to their vector differences. In that case,

the forces

CEPARN DL SROVVIIRVAL ARV IINA WL RVAL N AN VWV VESTARN WO LN N ARR SR TTA A S)

20T
Options :
cannot be predicted

ovdT® JOSSD

~

T
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always are equal to each other

2SRV SOGEES oDEﬁJ@ ACSRENNG

2. %
are equal to each other in magnitude
DOST*EIES” T2 20PN LETPISEED DaSTeaSadd
3.¢
are not equal to each other m magnitude
00ST°E30eS” S 20PN 2WETPUSE DaSTPaIedd 5°a3)
4 %

Question Number : 87 Question Id : 719650247 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A mass m 1s supported by a massless string wound around a uniform hollow
cylinder of mass m and radius R. If the string does not slip on the cylinder, then with
what acceleration will the mass release?

(Assume g = acceleration due to gravity)

0 B:550°8 550050 R 550 SOAS 88 85 Koo S8 S0e06eS 85078 60 TeGoes”
m Q53078 0P (support) JoeGod). wEIY PGe & XY o D WPEHGE
DY HOND, & SSg08 Dot BBESDES" DL IAEIEEE?

(g = 50693 B3 5E350 BSKemesw)

Options :

~

T
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b |0

2.
Sg
6
3. %
g
4 B

Question Number : 88 Question Id : 719650248 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A particle of mass m11 collides with a particle of m> at rest  After the elastic collision,

. . v M
the two particles moves at an angle of 90° with respect to each other. The ratio —= is
m,

2u8 5202500 7111 (930780 SO0 T @@6‘ 0, 7112 Bad3T°%eS” ©EIDTG0 WoldSR. DBPDE

1,

DTG0 HBITY, S8 Toled EePen WEPISEE 907 St e Eheron. ©ond

”'}1

QNS

Options :

1.0
R4

1.5
2. %

2.0
3. %

2.5
4.%

Question Number : 89 Question Id : 719650249 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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A block of mass 100 g moving at a speed of 2 m/s compresses a spring through a

distance 2 cm before its speed 1s halved. Find the spring constant of the spring

100 g &eS50°% K0 8 Baby 2 n/s HSeS* HOKFELT G370 850 K850 eTg S0ocdd aul
209005 2 em rGe 5000, WOND D900 CINETY, V900 VTZeESW

Options :

1250 N/m
| %

750 N/m
2w

1000 N/m
1%

1500 N/m
4 &R

Question Number : 90 Question Id : 719650250 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A bullet of mass i moving horizontally with speed wp hits a wooden block of mass M
that 1s suspended from a massless string. The bullet gets lodged mto the block and
comes into halt. If the block-bullet combine swings to a maximum height /. then how

much of the mitial kinetic energy of the bullet 1s lost in the collision?

ol WDS M G858 SOD 336 DeSTBBINP 1y IESVLS® POIPAP B0 SLPE
S5 Jerdbohentsss M $830°8 50 D8 O & Sk, &t 20TE HAYS" YEE A
SOOI, B WOE-B0) S350 8 KO W h ) S0, & SDHFSS0S
2008 §S YOS 5O KBS SH

Options :

—mv,
2 m+M

1.¢
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1 (M +m]
— v,
2 M
2. %
1 L[ M2 )
—vaﬂ 5
2 (m+M) |
3.8
1 L[ (M+m)
—mvy <
2 M?
4, %

Question Number : 91 Question Id : 719650251 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A ball of mass 100 g 1s dropped at time t = 0. A second ball of mass 200 g 1s dropped
from the same pomt at t = 0.2 s. The distance between the center of mass of two balls
and the release pomnt at t =04 s 1s:

(Assume g = 10 m/s?)

PO t = 0 3¢ 28 100 g B3g0°8 (0 2 WeB BPOIGITR. ©Q 2otided) 96 Dok
200 g Qa530°3 (90 0TS 2003 FPOSD 1 = 0.2 § 58 ePOVEITR. POVt =04 s 5

PO Toled 2ol Cﬁlﬁ& 9&1)8@% §oéo 20O 2PENEIS 2Jolidad) Qﬁ)d),s &rdo
(2 =10 m/s?> ©H§&)

Options :

0.4m

0.5m

]_-J
¥

0.6 m

0.8 m

~

T

collegedunia:

India’s largest Student Review Platform



Question Number : 92 Question Id : 719650252 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

A ball of mass M moving with a speed of 2 m/s hits another ball of mass 1 kg moving
in the same direction with a speed of 1 m/s. If the kinetic energy of center of mass 1s

4 . :
B Joule, then the magnitude of M 1s

M (530738 o 2.8 200 2 m/s Ji3Swed” SOJr 0l &S 1 m/s aHianed” SOy 1 kg

BS30°8 (50 WoB GSWold. 7 RS30°8 Soldaid OOy edesds %ﬁé o M
STOINULAN

Options :

1 kg
1. %

0.25 ke
7 ®

0.50 kg
5.

2 kg
4. %

Question Number : 93 Question Id : 719650253 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
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A simple harmonic oscillator of frequency 1 Hz has a phase of 1 radian. By how much
should the origin be shifted in fime so as to make the phase of the oscillator vanish.

(tume m seconds (s)).

TS0 1 Hz $o ol I8¢ SPoreh) ¥ oo 1 BGOSR, S8 590 &od. & &L%o
GA0Ep,. OF & yFgain IONGEEAS DFLEIotiDD 5°00es” wo SEK HPord.

(P50 JESHES (8))
Options :
1
T
. %
|
——
27
2. ¢
¥4
—y
b
X ﬁ
i Y
4. ®

Question Number : 94 Question Id : 719650254 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
A planet 1s revolving around the sun in which of the following is correct statement?

APEIZ0 OGP 28 (RS0 HORIAIT) QOND, Si §obd TS KOS DSTEs

Options :

~

T
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The time taken 1n travelling DAB i1s less than that for BCD
DAB &rorQ), 205P0wirds DG 5700 BCD $ol3 €9%0) o

1.
The time taken 1n travelling DAB 1s greater than that for BCD
DAB &r0ed), D05reiondrds 06 5700 BCD $o€3 o808

2. %
The time taken i travelling CDA 1s less than that for ABC
CDA &r0PQ), D05EIoderds DG 5P ABC $old 50,65

W *
The time taken 1n travelling CDA 1s greater than that for ABC
CDA &r0°R), H05reiondrds D& sk ABC $old 0d80p &5

4

Question Number : 95 Question Id : 719650255 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The wrong statement in the following 1s

&1 800 TPES SIS DSGEs

Options :
The bulk modulus for solids 1s much larger than for liquids

SUNSIAL oL SROVWS oW ATV A WE ANV DL A B LS 93503,05

. %

Gases are least compressible

TPOSVHED BB DoddiegasrPniaded)E°ow
2. &
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The incompressibility of the solids 1s due to the tight coupling between

neighbouring atoms.

DOSOTPTL @Az H s°0adn HISV DFHDE, DISTEHL g ools

ARSIV ALNAY

3, %
The reciprocal of the bulk modulus 1s called compressibility
WODBS H0ea8S50 ClwE),. VS'APRY Dodtig® ot

4. %

Question Number : 96 Question Id : 719650256 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The speed of the water in a river 1s “V’ near the surface. If the coefficient of viscosity

of water 1s ‘7" and the depth of the river 1s ‘H’. then the shearing stress between the

horizontal layers of water 1s

S6S” &HOBL GG &) A adws), a3 ‘V’. &8 A& QI8 ) O (eSS ‘i’
S0 gy St ‘H 0o & 36 £32:0585°88 OO 003 a)ols DITPEIS DB20LSW

Options :
H
g 5
| %
v
1 Vi
2.
'K’!'
nH
3 %
n VH
4, ®

Question Number : 97 Question Id : 719650257 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0

A steel rod at 25 °C 1s observed to be 1 m long when measured by another metal scale

which 1s correct at 0 °C. The exact length of steel rod at 0 °C 1s
(Ctsteet = 12 % 1078/ °C, ctmetat =20 * 107¢/ °C)

0 °C &ES S& HDOGNS FOHDH VDY ASSNMP ESrodSsn IoDLEID, Wl STY
§'0RSSDAPHD 25 °C GYHS S KO 28 aX0y 56 T 1 m Ko0edS¢0ns 0 °C
GAHS 56 & GXop 56 DOYBDS T

(ctas, =12 ¥107°/ °C, aterzmas = 20 x 107°/°C)

Options :

1.00002 m
| ®

1.0002 m
R 4

0.998 m
ke 18 w

0.9998 m
4. %

Question Number : 98 Question Id : 719650238 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Latent heat of vaporisation of water 1s 22.6 x 10° J/kg . The amount of heat needed to

convert 100 kg of water mto vapor at 100 °C 1s

DE AW eSS HoFpsn 22.6x10°J/kg wowd. 100kg $330°8 KO A€W
100 °C 356 2P )%e53e500 WolowPLold SPadOy &0

Options :

11.3x10°]

~

T
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11.3x10°7

o

22.6x10°7
3 =3

22.6x1077
4.v

Question Number : 99 Question Id : 719650259 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The P-V diagram shown below indicates two paths along which a sample of gas can
be taken from state A to state B. The energy equal to 5 PV i the form of heat 1s
required to be transferred if the Path -1 1s chosen. How much energy in the form of

heat should be transferred if Path-2 is chosen?

£60 SPOSED 8l P-V 28060" a8 7050 SSHFTH S A 66 28 B K S8
3¥o$) Dol DEPOD BRI, D01 B0ES) QoS 5 PV 0850 DTS 480 &
ErHotS STEISO Gobwod. DHSN-2 TT® DoerVE ot O GRSD XSS
SPENSOR Sobwod.

N
E ST
2
2
™
P T Al B
L z
Y v
Options :
i J—
2
1. ¢
6 PV
2. %
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Question Number : 100 Question Id : 719650260 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Two vessels separately contain two 1deal gases A and B at the same temperature. The

pressure of gas A 1s three times the pressure of gas B. Under these conditions, the

density of gas A 1s found to be two tumes the density of B. The ratio of molecular
M, .

weights of gas A and B, i.e. —*is
My

&S GYNY IO (O Tolld PBLN TGP A SO0 B 95 Cold 60 IP080HO
EDaHT°) 00, A TP05008) CINE). GEIS0 B ae0neg) el ol a0l OG0, @0 N
DOVOS” A P05 CInE). Pl B POl FPo@td $ol3 Toddd TGO (0ol . A

500050 B a0 Gus, S0 A0S, SF, A

M,
Options :

2

3
1. ¢

3

2
2%

3

4
} %

4

3
4, ®

~

T

collegedunia:s

India’s largest Student Review Platform



Question Number : 101 Question Id : 719650261 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Two coherent plane waves of identical frequency. polarization and ntensity (I)

interfere at a point where they differ in phase by 60°. What is the resulting intensity?

Boch K080 0L SBTPED B.3EESIONRS FSRYS550, (55850 SO 50 SZE(T) ©
50 €06 88 Botideg) 565 60° C5aEIES0ES* S 3DERSN DotOw. DOBFD BS oJoth?

Options :

I
1. %

21
2. %

31
3.¢

41
4 %

Question Number : 102 Question Id : 719650262 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The position of final image formed by the given lens combination from the third lens

will be at a distance of (f; = +10, £ =—10 cm and {3 = +30 cm)

BN EEESNO DoTIPHSS0 SO 515 S8 HARLIPSSD SIPEaS TSN Hobs oot
EPBoS” 2IB)Ce808 (fi = +10, £ =—10 cm 50605 f3 = +30 cm)

Options :

1 2 3

LA VA
S \/ A \/

&30cm[6—5cm—K—10cm-|
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15 cm

| ®
Infinity
£9c3089050
7 R
45 cm
3. %
30 cm
4 ¢

Question Number : 103 Question Id : 719650263 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

An object 1s placed at a distance of 40 cm in front of a concave murror of focal length

20 cm. The image produced 1s

28 e 20 cm TWgeBGo &) wl YEFST OO NEID S0 grti50eS” 40 em

B7BotS” §osealiod. 2S5 VRSN

Options :
real. mverted and smaller 1n size

25, BOEITF ool S50 & DOXTEIES” ol

| %
real. mmverted and of same size
22330, HOSONP ool OO0 BT HOSITEILS” adoldold
2.V
real and erect
Q23 200050 DEFPGIP a9)otledd
3. %
virtual and mverted
0GP 200050 BOSEOLNTP af)ollold
4 &

~

T

collegedunia:s

India’s largest Student Review Platform



Question Number : 104 Question Id : 719650264 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Two beams of monochromatic light with intensities 64 mW and 4 mW interfere
constructively to produce an intensity of 100 mW. If one of the beams 1s shifted by

an angle @. the mtensity 1s reduced to 84 mW. The magnitude of @ is

Bolh) aESY e Do) GV B KNP 64 MW SH0050 4 MW 0N @8 HodFR
S DEBESD DoAY 0 POB w3 S35 100 mW. DBY a8 Fodorzsd 6
§'a50e5° DFHSS0 FoOB, TR HOG S5 84 MW K SAIH. B O G HOSIeso
oS

Options :
30°
| ®
60°
2.
45°
3 B
Cos™ %)
4. % %

Question Number : 105 Question Id : 719650265 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A particle of mass 2 X 107° kg with a charge 5 X 107° C is hanging in air above a
similarly charged conducting surface. The charge density of the surface 1s

(Assume €0 = 8.85 * 1072 C> N-! M—? and g = 10 m/s?)

@3S0 5 X 107° C 59T af Seadn o) O8s0° 2 X 1070 kg Ko S
SIVD00NS PSS BOSND FTPUR0DESR. oS & Ho AINE), W FPoldeh
(e0=8.85 % 1072 C* N~ M~ 005w g = 10 m/s* P H08"&)

Options :

~

T
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35 4 x 10712 C/m?

| &
23 .6 X 10712 C/m?
2.5
53.1x 10772 C/m’
3 4
17 7 X 1072 C/m?
4 =

Question Number : 106 Question Id : 719650266 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Find the equivalent capacitance between pomt A & B.

A 50050 B R0 506 0 0500 STDEDy $6H8%6

A
[
b —2C
25
20 G =l b
&
B

Options :

4C
|, %

3C
2.

20
3. ®
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Question Number : 107 Question Id : 719650267 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

, . : A : : :
A circular wire has current density J = l( 2 < 10" — |r* where r is the radial distance,
\ m-

out of the wire radius 1s 2 mm. The end-to-end potential applied to the wire 1s 50 V.

How much energy (in joule) is converted to thermal energy in 100 s?

%

Wl SYTTE SES DogS QD PSS T= {z BT Lt PP A R PR

m- J,j
TGOS, HI Dol TGS GFde 2 mm. S & Do SO Mg 50 VIS
(FEIODS) BDS00SeIE0d. VNS 100 JEIS’ Dot BgS & (FSVS) &l v

oﬁ?é&&)&o&

Options :

1200
| ®

800
2.V

3200
3. #

600
4. %

Question Number : 108 Question Id : 719650268 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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The resistance 1n following circuit are Rj= R>= R3 =6.0 Q. The emf of the battery 1s
12 volts. When switch S 1s closed. the potential across resistance R; 1s changed by an

amount.

&t Sold Lrdd SwokeS ATrw Ri= Ry= R; =6.0 Q. 730 clwg) dogaryvl
WOSD 12 Shen. & SOADS VYD S D HPISISHED, ATWSD R §30 $¢8 K0
300550 AHEIYONES (¥ 5)

R
— pthe——d"

Y R,

Options :

-2V
. ¢

+2V
2. %

-4V
3. %

+4V
4, %

Question Number : 109 Question Id : 719650269 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Figure below shows three circuits consisting of concentric circular arcs and straight
radial lines. The center of the circle is shown by the dot. Same current flows through
each of the circuits. If By, By, B3 are the magnitudes of the magnetic field at the

center. Which of the following 1s true?

DB S WFHIESED NP SLOLPEN 88358 DEBHOD Sy LD 0N
0050 BIY D TG BFS DD EDaHT*) 0. SyBo TINE, FoEN0S 28 Dotidaes*
BPDoPd). ©) SOAFOS’ & SE0NS DS VSEFVD. & P SOosrL
SO S WOF) BEL, HOSTEPLL SEXF By, Bz, Bs €0 00w & §ob oS 6
Q2353007

3r

Options :

Bi>B>>Bs

Bi>B:;>B»>
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B;>Bi =B

B3 = BZ -~ Bl

Question Number : 110 Question Id : 719650270 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A charged particle moves through a magnetic field perpendicular to its direction.
Then

w8 @33 5380 Do) QEB, Vo2 &) @odfm&oeﬁ i@m Dols SC0LVEE.
TOVON

Options :

kmetic energy changes but the momentum 1s constant

530383 STEBB TY SS3ai0 PEZOTP ool

| ®
the momentum changes but the kinetic energy is constant
3335330500 ST BIERLR 5°R) (93e3dS DU a)oldold
2.
both momentum and kinetic energy of the particle are not constant
53o300 G0 WeSge3risson 2HOCKN (9eBeedEue Told RBSNTT afotiad)
3 ®
both momentum and kinetic energy of the particle are constant
5230500 OIE), WeSgadtiain aHO0KN HeB2eEE0e Colld QBBNTT 8HotIPow
4, ®

Question Number : 111 Question Id : 719650271 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
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The length /7 of a magnet 1s large compared to its width and breadth. The time period

of its oscillation in a vibration magnetometer i1s 2s. The magnet is cut into three equal
/ . e
parts of length 3 each. If these parts are placed on each other with their like poles

together, then the time period of this combination 1s

o8 SONF oo 08, TGP | TP CINE) IEL0Y SO0 Solbsne Kol SHEID
OREVS, EHS GADFY o SFHEES BY GSGS FOID 25, & GOy 3

[
TP SRS w88 @t AANE). Fad) 3’ NI AIwE)y. JePAON TP W8 I
DoGEIEN 2uETPUR DTEE) B0V & ©D0F Gl COTIGS SO0

Options :
Zs/g .
1. %
5
=5
3
2.
2s
3 ®
2
—f
g
4. %

Question Number : 112 Question Id : 719650272 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

~
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Two straight conducting rails form a right angle as shown below. A conducting bar in
contact with the rails starts at the vertex at time t = 0 and moves with constant

velocity of v = 5 mv/s along them. A magnetic field with B = 0.1 T 1s directed out of

the page. The absolute value of the emf around the triangle at the time t = 4 s will be?

&8 $old WPOSED Told) BI) R TIPS DTN eSTPUes” st QoSN oHT°)ow. t = 0
S0 56 W8 TFE 6 DEPL BEI0 S TPESED ool v = 5 m/s DG IS0eS* S8 Totd
DEPL (D05 eted. DOBLPIS Lo B = 0.1 T o 0Py 0 S50 Do
508 BTEPZSNT WIOPYENIOLRIED. GO & BEDEFFEINS t = 4 5 FLo S DENE
aésgémgv§ 200350 (emf) Qo3PS e

-
¢

O}
-
] :

Bar
s
ﬁe,ge.u
Options :
10V
1. %
15V
7 #
20V
3.
30V
4 R

Question Number : 113 Question Id : 719650273 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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A current of 6 A 1s flowing at 220 V in the primary coil of a transformer. If the
voltage produced in the secondary coil 1s 1100 V and 40 % of power 1s lost, then the

current 1n the secondary coil will be:

28 DOSTISING (EPOYFOLE) (0 a8 FEE S8 oG 220 V S'Tet 5 6 A diogsS
OSSRV, B SOS TIPS (Eotd SEE) ¢ GBS ©ahy STee 1100 V eowd
PSG3506" 40 % LS 200D TERIHSIVES’ PSP D3

Options :

028 A
|.

0.36 A
2. 8

048 A

3.¢

042 A
4, %

Question Number : 114 Question Id : 719650274 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The phase difference between the following two waves y, and y; is:

¥y 0003 1) @D €8 S0l Dol BelPL D3 (10 (F°EI0a50 S BLVte.

v, =asin (ot —kx)

T
¥, =bcos[ ﬁ)f-kr+—]

-
i |

Options :

~

T
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6
2. ¢
.I'T
3
3 %
T
4 ®

Question Number : 115 Question Id : 719650275 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A beam of photons with an energy of 10.5 eV strike a metal plate. The photoelectrons
are emitted with maximum velocity of 1.6 » 10° m /s. The work function of the metal
1S

(Assume mass of electron = 9 »x 107! kg and Charge of electron = 1.6 » 107°C)

28 50D oazdW (FErD) 10.5 eV $8ed° o8 STHerd) @°8cd. & ST D& &EPES0
Dol P DoFradie Gy HOR Hisn 1.6 x 10° m /s wowd & SEro gy D
HBOI0

(P59 B550°8 =9 x 107! kg 200050 39 waksin = 1.6 * 107°C)

Options :
3.0eV
1.
318V
7 ®
3.3eV
3. ¢
3.5eV
4, ®

Question Number : 116 Question Id : 719650276 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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In the hydrogen atom spectrum, let E; and E> are energies for the transition

n=2—n=1andn=3— n=2respectively. The ratio E»/E; 1s

w8 FPERD DS 3G DS n=2 > n =1 0050 n=3 — n =2 EKON
0850830300 Woldda)ed aIeadled $50en SO Ej <0005 Ez ©0-0500m7e50. E2/El i)

Options :
2
3
| B
3
2
29
2
| 9
3. %
5
ZJ
4.

Question Number : 117 Question Id : 719650277 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

2°Si whose atomic mass is 28.976495 u

What 1s the binding energy of

Mass of proton = 1.007276 u
Mass of neutron = 1.008664 u

(Neglect the electron mass) (Assume 1 u=931.5 MeV)

D8SeR $850°8 28.976495 u &) Z2Si 2ot 93
FerSH BSg0°8=1.007276u
373638 85078 = 1.008664 u

(QUFID BS550°80 GDE0S08) (1 1= 931.5 MeV 0:5H80055w)

Options :

~

T
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237.84 MeV

. ¢

421.72 MeV
2, %

387.21 MeV
3. %

116.35 MeV
4. %

Question Number : 118 Question Id : 719650278 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following statements 1s incorrect?

85 806 BBLIES DSBS 2B OGS S0

Options :
The resistance of mfrinsic semiconductors decrease with mcrease of
femperature

0382 OSTLFESD TG, HTES0 S DENDMIES SDOBE

| ®
Doping pure S1 with trivalent impurities give p-type semiconductors
SBlo0ira SrOdy DPTPOD DY VO (S1) DOSTPENHB  SorLESEISD
IS0 S p-O8o GTEFESD S0l

7 R

The majority carriers in n-type semiconductors are holes

n- $%o OFTIFEINS Colren ©OE Doarrg¥ aPIFEeL
3. ¢

A p-n junction can act as a semiconductor device

P Dol &8 ©GTEIEE HOEEINTP DWWk,

~

T
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Question Number : 119 Question Id : 719650279 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A piece of copper and another of germanium are cooled from room temperature to

77 °K.. The resistance of

Wl O SHSH HOOK BP0Pe SNGHEH HO GBS D& 77 K SO
WG S20ESD. LGS0
Options :

copper increases and germanium decreases

ORE DA SHO0KND B30 SEEEID

|
both decreases
Ooter STPOW
2. % |
both increases
ColsP AEXDD
3, %
copper decreases and germanium increases
A0 0000 HO0KN BTN 28XV
4. ¢

Question Number : 120 Question Id : 719650280 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
A carrier signal of frequency 1, and peak voltage of J] is modulated by a message
signal of frequency v, and peak voltage of V. Let m be the modulation index and

‘[J‘

v_ be side bands produced. The correct statement 1s

v, SIS0 000 V; 308 S'Tes o a8 S DodTPR), v, TSRS SH00%
V, 208 S'Tes B0 Doidd Sdaticines” Mg 20Med. M ©BSH SrgShs Hrd
5000 v_, v_ O3 835 HIen 8 NGE00. DO DeSEs

T

Options :
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V.
Hil = "_1
Vl
|, *®
V. +v_
V=
2
3.
V. +v
=
) 2
3. *®
V
m>—
4
4. R

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Display Number Panel :

Group All Questions :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Chemistry
7196506
3
Online
Mandatory
40
40
40
Yes
Yes
Yes
1
7196506
Yes

Question Number : 121 Question Id : 719650281 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Two series of spectral lines of atomic hydrogen which do not belong to infrared spectral

region are

D0°80E SGNE TS Votidtndold FrPE e DBEIE Iy Coth 3G D6 e Fwe

OD?

Options :
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Lyman and Paschen

SR 200K PR
| ®
Balmer and Brackett
23°:300 000K 7S¢
7 R
Pfund and Lyman
4 0):-(5 AV lOWIISAVS
3w
Lyman and Balmer
SR 00050 23206
4.

Question Number : 122 Question Id : 719650282 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the activities can be compared to the concept of quantisation?

&8 800 SODUES” B °50ti80E arSaded” e S0).

Options :

A car 1s travelling on the road

a8 5200 65reeo(road) R DKol
1. ®

An apple 1s falling from the tree

28 DO BN R Hoke oS0 DL
2. %

A person can stand on any step of a stair case
2.8 g8 Jodw(stair case) SordeS R SVAFIRY BTN RGN

3. ¢
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Throwing a playing disc

S0 G (dise) DROSADEK

Question Number : 123 Question Id : 719650283 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What will be the TUPAC symbol and name for the element with atomic number 123?

D6S5eR Doy 123 ey, Sarerdo dngy, TUPAC D57) 0 S00050 DX ues?

Options :

Unt and Unniltrium

Unt 2500050 &) SE05e0

Ubq and Unbiquadium
Ubq 00050 &2Js°sE0% e

[
®

Ubt and Unbitrium

Ubt 0050 62030060
3.¢

Unb and Unmilbium
Unb 0050 &) 52)050e0

Question Number : 124 Question Id : 719650284 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following statements 1s mcorrect?

88 §00 PAFPDIS” 6 HOTVIE .

Options :

~

T
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The enthalpy of atomization decreases down a group m s-block elements

S5 SPOTO GRS’ $o08 IT TG DESTHESE DoTrO)y SOB0

| %
The enthalpy of atomization decreases down a group in p-block elements
P- 25 SrUsL (RS’ S0 IPYEE DSSEIEGE o) Shotiedd

2, %
The enthalpy of atomization decreases down a group in d-block elements
d- 28 Aroso GrYS” So8 FFEE DSSrEIESn WowrOy Sthied

3.
The enthalpy of atomization mcreases down a group in d-block elements
d- 275 SrOL RS $obdd 3PS50 DISTREE WoTPy DSV

4, ®

Question Number : 125 Question Id : 719650285 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Find out the correct order of 1onic character in the following molecules

&8 Sold WEVNLES” OIPRE XJSWGSG Cﬁl)gzy DOAS Eedve 0odole.
(i) SOz (K0 (i) N GO LiP

Options :

(iv) > (i) > (i) > (i)

(1v) > (i1) > (1) > (1i1)

(11) > (1v) > (1) > (111)

gcollegedunias
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(11) > (1v) > (1) > (1)

Question Number : 126 Question Id : 719650286 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Find out the bond order in He». He>™, Osand O™, respectively

He,, Hez™, 02 0050 027 O 200858500 SEOMP

Options :
0.0.5.2and 3
0.0.5. 2 56050 3
1. &
0.5.0.3and 2
0.5.0.3 65 2
2. ®
0.05.2and 1
0.0.5, 2 206050 1
3.1'3
0.05.2and 2.5
0. 0.5, 2 6050 2.5
4. ¢

Question Number : 127 Question Id : 719650287 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

One mole of an i1deal gas occupies 12 L at 297 °C. What is the pressure of the gas?

28 S &) TPOad) 297 °C &FHD 56 12 L D0IS00SIPERR), 3500008, &8 T°0%0aY)
T8, bcdo wdoh?

Options :

collegedunia:s

India’s largest Student Review Platform



207 kPa

], &
395 kPa
2.
395 Pa
3. %
207 Pa
4. %

Question Number : 128 Question Id : 719650288 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

4.4 grams of a gas at 0 °C and 0.82 atm pressure occupies a volume of 2.73 L. The gas

can be

4.4 P00 a8 r0saY) 0 °C &5 30005 0.82 atm HESe 58 2.73 L H0SH0SeQ),
500000, &8 TOK) NE?

Options :

Os

], %

oD
). ®

NO»
3. %

CO;
4.

Question Number : 129 Question Id : 719650289 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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How many moles of Ammonia are produced by 5 moles of Hydrogen?

5 IS0 PEER D), SPOL BITIVOTTD &BNB Jobd?

Options :

2.3
| %

8.3
2.8

10.3
7 ®

3.3
4.

Question Number : 130 Question Id : 719650290 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

C>Hj can react with Hy 1n presence of a catalyst to form C>Hg as per the following

reaction.

C,H, (2) +H, (2 Catalyst

> C,H; (2)

The amount of C>Hy in grams required to produce 50 grams of C>Hs 15

& 800 585" C2Hy 639 880 00E0t Ha €8° 585500 C2He 0 o 380%008

@D y9 55
C,H,(s) +H, (o) > C,H, (o°)

50 g C2Hs 6¢5y& W00ErAS oy Peiww CoHs 985080

Options :

3644 g

~

T

collegedunia:s

India’s largest Student Review Platform



2218 ¢

o

2. ®
46.67 g

3. ¢
5711 ¢

4.%

Question Number : 131 Question Id : 719650291 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

For which of the following systems. the difference between AH and AU is not
significant?

(1) Solids

(1) Gases

(1) Mixture of gases and liquids

(1v) Liquuds

88 806 o) S350, 308 AH $00050 AU 065 S5e5 08 apasnagth S,
(1) DoSHmegren
(11) s3eOS0edeN
(111) TPOIVHL0 SHOOKN QPO WFo

(1v) Qaren

Options :
(1) and (1v)
(i) 00050 (iv)

(1), (111) and (1v)
(1), (111) 200050 (1v)

b3
®

~

T
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(11) and (1v)

(if) 55005 (iv)

(ii) and (iii)

(ii) 0005w (iii)
4, %

Question Number : 132 Question Id : 719650292 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

At 25 °C. the ionization constant for anilinium hydroxide is 5.00 x 10™°. The

hydrolysis constant of anilintum chloride 1s

25 °C & 3¢ DVOI0Le PEFYEH AHIESE JT%¥e Hens 5.00 x 1077 wond
NS oMW FS: OG %E.J&')ig.?% QTS0 VLIS oJoH?

Options :

2.00 x 107
. ¢

4.00 x 107
3 -

1.50 x 10°°
3. %

250 x 107
4. %

Question Number : 133 Question Id : 719650293 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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For the given equilibrium reaction.

2A() ==2B()+C (g

the equilibrium constant (K¢) at 1000 K is 4 x 107, Calculate K, for the reaction at

800 K temperature

& 8005 AP D0DS DDHEPPS SO

2 A () == 2B () + C ()

DTS 0roSo (Keo) D 1000 K (iss 56 4 x 107, w00 800 K &r(ies ¢ &
36550 Kp D608 S8, 0306

Options :
0.044

1. %

0.026
2.

0.33
3. %

1
4, ®

Question Number : 134 Question Id : 719650294 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : (

Hydrogen peroxide is stored away from light because i1t can get decomposed when

exposed to light as

T %BR DTZYo ) 570 SR DBFS” VLY WP 2otid¥ol] 20 DXt BB HDEITo Jobd
88 806> 9 )T O IS YEKE.

Options :
H>O and O;

H>O 50030 O3
1.v
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H> and O»
H> 206050 O2

H->O and H»

H>0 00 Ha
3. %

H>O and O3

H>0 200030 O3
4 &

Question Number : 135 Question Id : 719650295 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the reactions represents “slaking of lime™?

D80l 6D B D WPDodd 35 D&?

Options :

CaCO, — Ca0+CO,

| ®

CaO + CO, - CaCO,
2. %

CaO + H,0 — Ca(OH),
3.

CaO + $10, — CaSi10,
4 %

Question Number : 136 Question Id : 719650296 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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H3:BOs1s
H3;BOs a8
Options :

Monobasic and weak Lewis acid

XS SH0050 XIS LIONR oo

. ¢
Monobasic and weak Bronsted acid
5T 00K WOLFS T OVE B0
2. %
Monobasic and strong Lewis acid
NETE 500050 20005 LPOND &0
3. %
Tribasic and weak Bronsted acid
B0 SH00K WLIFS &T VG Saddo
4. %

Question Number : 137 Question Id : 719650297 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In CO, molecule. the hybridizations of carbon and oxygen atoms are respectively

CO, @), 60 D000 ©8128x DISTEHL DoB0EBEILL SEOT

Options :
Carbon Oxygen
LAY e38\220
sp sp’
1. ¢

~

T
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Carbon
?6&5
sp’

b3
¥

Carbon
LIS
sp

Carbon
S‘“ée)cs
sp’

Oxygen

SIS

-

Oxvgen
&35)8Q
Sp

Oxygen

&80

sp

Question Number : 138 Question Id : 719650298 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The consequence of global warming may be the following

800 aEIES” BEP(E* Yo SBE) Cho TPOP otSDod HOEPS 2B

Decrease in average temperature of the earth

BPERS DEED GBS SO

Melting of Himalayan glaciers

IPSPOON HEIE §6t500

Options :

|, %

2.
Eutrophication
OESDSAR

3, %
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Increased biochemical oxygen demand

PSR OV ISTIN S RSPV VieValS

Question Number : 139 Question Id : 719650299 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following carbonyl compounds will exhibit enolization?

&8s $o8 SIS D0y Yt B BT K80 HEBOR.

O O 9] O CH; CH
CH, 0 -
o GO O w7 e
CiL
I
CH,
(1) (11) (111) (iv) (v)

Options :
(i). (ii) and (iii)
(i), (ii) 005 (iii)

(11), (111) and (1v)
(11), (111) S0G3W (1v)
v

bt

(11), (1v) and (v)
(111). (1v) S00C5W (V)

(1), (111) and (v)
(1). (ii1) 0050 (V)

gcollegedunias
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Question Number : 140 Question Id : 719650300 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The major product formed i the following reaction 1s

liquid NH,

H,C—C=C—CH,+Na

N
>

808 I8¢5 DB WO G538y 0 DO

é&’)NH_;
H,C-C=C-CH, +Na >
Options :
H,C-CH,-C=CNa*
1. %
H,C-C=C-CH; Na®
H,;C CH
3 \C= C/ 3
" ke
H H
3 #®
H;C\ ~H
.
H CH;
4. &

Question Number : 141 Question Id : 719650301 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Which one of the following reactions gives the product with less number of carbon

atoms than the starting material?

&8 808 BB DEE o) B8535 0 Foa DiPGo &) S50y S B S GEVHUD FO.

Options :
R_X Na. Ether .
Na, 386
| ®
RCO,Na NaOIi CaO i
2.V
RCO,K Electrolysis s
VAVTALE ML
RCO:K =>
3. %
R_X Zn, HCI 1
4. %

Question Number : 142 Question Id : 719650302 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Li1CoO; crystallizes mn a rhombohedral structure. Consider a situation where 50 %
lithium (L1) 1s extracted from the lattice. To keep the crystal electrically neutral,

change 1 average oxidation state of Co 1s

LiCo02 05709 600805 e55)eS” 016385880 Dodod. D)6 s o6 50 % Li &
D, 00RO, DY DTS DoP BEVP aHoareotd Co I 5w
515068 LB S0y oo

Options :
16.66 % decrease
16.66 % 5¢50c5e

|, ®
16.66 % increase
16.66 % 3080w

2.«
50 % mcrease
50 % GG

*®

50 % decrease

50 % €EI0

Question Number : 143 Question Id : 719650303 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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The freezing pomt depression of 0.001 M of A B, [FE(C N)ﬁ] is 5.58 x 10°K. If the

oxidation state of Fe is +2 and K, =1.86Kkgmol™. then the total number of

possibilities for different types of A and B cations are

0.001 M A_B, [Fe(CN),] ciwg DdeSSPsS )& 5.58 x 10°K. Fe ciw
w5508 B +2 HO0w K, =1.86Kkgmol™, ©00d 0l ) S5°0 A S00kn B
SPEI0SIT) WPEgeI0a)TPON

Options :

1
. %

2
1%

3
3. ¢

4
4.8

Question Number : 144 Question Id : 719650304 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

When 2.44 grams of benzoic acid (CsHsCOOH) dissolved 1n 25 grams of benzene, it

shows depression of freezing point equal to 2.2 K. Molal depression constant of
benzene is 5.0 K kg mol™ . What is the percentage association of acid. if it forms dimer

1n solution?

244 g © Dozd 0wS W) (CeHsCOOH) 25 g © 2ozsoed” $0hw 2.2 K VNN N
050) B SPHRVeB. 830e8d SrereS (molal) 05 ¢ JTP%o 5.0 K kg mol™ . 98 grssests”
B3ENEo DBYOR, Beho FLPS8g To Dots?

Options :

50%

~

T
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77%

2. &
95%
3 %
90%
4, v

Question Number : 145 Question Id : 719650305 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

061V

= B = Y .. 1OV .
BrO; — BrO —— —Br, — — Br

The value of E;is

EP Gl Send oot

Options :

0.76 V
. #

0535V
2.¢

0.428V
3

1.12V
4 B

Question Number : 146 Question Id : 719650306 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0

The rate of chemical reaction doubles with every 10 °C rise in temperature. If the

reaction 1s carried out in the vicinity of 22 °C. the activation energy of the reaction 1s

(Given R=8.3 J K~! mol-'. In 2=0.69 and In 3=1.1)

DB 10 °C &FES BEAVGOR 565 BE(F9850) DS Tothd TED Wa)tol. 8wl SPODS
S35 22 °C & D0DotS” 20DSL0ND & S0g TS &Beeed §8 oot
(315320650 R=8.3 T K~ mol~, In 2=0.69 50050 In 3=1.1)

Options :

1.69 kJ mol™

0.169 kJ mol™

49.8 kJ mol™
498 T mol™

Question Number : 147 Question Id : 719650307 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In an adsorption experiment, a graph between log(% f) vs log P was found to be linear

with a slope of 45°. The intercept on the log( % !) axis was found to be 0.3. The amount

of the gas adsorbed per gram of charcoal under a pressure of 1 atm is

28 0T N YOIrHet, lﬂg(% ;) . log P © P2e5” 0S¢0 are 45° TP oS)od. log(% ’)
©o 2 oSS Wotio VNS 0.3 ETSeoliod. WOND 1 wEFANONSE Do 5¢) au¥ TP

6 oth A%V BBTHEI Il

T
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Options :

1
| %

2
2.

3
3 %

4
4. %

Question Number : 148 Question Id : 719650308 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question

Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Ellingham diagram 1s drawn between

D AT Do o) Tobiold 285 HODe el

Options :

Change in potential and pH

m@om@es“ S°80y <0005 pH
| ®
Change 1n free energy and oxidation state
gy #ES S50y SH00KN wsyEdes dS
2. ®
Change m free energy and temperature
SISACEIR e VARNVeTo MWW 2ofg
3. ¢
Change 1n free energy and polarizability
SISPALESRAV e VRSO VEAREVECS
4. %

~

T
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Question Number : 149 Question Id : 719650309 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Brown ring test is to detect the presence of

TS SO%H HOK BV K000 RIS TG
Options :

NO;

1 &

€]
2. %

-
] R

Br
4 ®

Question Number : 150 Question Id : 719650310 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Oxidation state of S mH,S,0q 1s

H,S,0, ¢ ‘S’ cing), 68550 S

Options :

8

1. ®

6
2.

4
3. %

7
4 &R
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Question Number : 151 Question Id : 719650311 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following sets correctly represents the increase in the paramagnetic

property of the 1ons?

&8 §08 ©AEDOES” HIPOHFy, 09 G50 DOM §55°R) $o8 VHBLES B HOP DPID.

Options :

g 18

Cu”

2. ¢ IE

< V¥ < Cr” < Mn’

R4
G T8 g e I+
Ca =0 <= Mi
2. %
T ). 2
Mh™ =V <Cr <Cn
3. -
2+ ;. e I -1
M= <t =N\
4 ®

Question Number : 152 Question Id : 719650312 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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The coordination complex [Co(OH2)s]*" has one unpaired electron, which of the
following statements are true?

(1) The complex 1s octahedral.

(1)  The complex 1s an outer orbital complex.

(1)  The complex 1s diamagnetic.

[Co(OH2)s]*" 008305 XogRo & 200€0 DUFIRD EONeb. VoD &1 $ob g’
D DOTSD

(1) YFLPEO o8R0

(i) ey G0OYERES Do

(i) GO SOFPYt DoBilo

Options :
(1) and (111) only
(1) SO0k (iil) e
| ®
(1), (11) and (111)
(1), (11) SHOCSW (111)
(1) and (i1) only
(1) SHOOKW (ii) e
3.
(ii) and (ii1) only
(ii) SoOCKW (iii) Joegad
4.%

Question Number : 153 Question Id : 719650313 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which one of the following 1s made by using step growth polymerization?

&8 §0b TEES" QO RS YO FOSOESE0 TP IT° SO I0DeIEb

~

T
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Options :

Nylon 6, 6
JerR 6, 6
1. ¢
Teflon
AP
7 R
Rubber
Jeoyto
3. %
Neoprene
QCIPHS
4 %

Question Number : 154 Question Id : 719650314 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Insulin and glucogen, which are responsible to maintain the blood glucose level, fall

under

5% (1PS25 PO §5000080050080 8370585 SRt BINOD SO0KN (KPSBS 3¢3 8068 SFow

Options :
Antibodies
VB Gseen
1. %
Harmones
CPISIOY
2.
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Enzymes

NSOV
3. %
Transport agents
29205003 SPOZPED
4 %

Question Number : 155 Question Id : 719650315 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which one of the following statements is “not correct” about cationic detergents?

8 800 TS’ 2 SHEPALS GAGAL a0 HOGIE 5
Options :

Cationic detergents are quaternary ammonium salts

SO &mgoesb 5°3608) O @air) QO LSEPe

1 ®
Cationic part contains a long hydrocarbon chain
ARSI 850 DS L TEN® FYoBPR ENGolnold
27w
Cationic detergents exhibit germicidal properties
PO &'33{;?063 &8s CﬁU"&RJl L0 FOW
3, %
Cationic detergents are cheap and are widely used
SPEROSIR Glddotdy T SOOI DR YBelT TS
4.

Question Number : 156 Question Id : 719650316 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Which one of the following will be most reactive for Sy’ reaction?

&8 §ob aES" B SN! WBgES” ol FESolod

QC.

Options :

], %
O
2. %
Cl
OXe.
=
Cl
OXe,
4.9

Question Number : 157 Question Id : 719650317 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Which of following alcohols gives white turbidity almost immediately with the Lucas
reagent at room temperature?
(1) n-Butanol (i1)  tertiary-Butanol

(11)  Benzyl alcohol (tv)  Allylic alcohol

G Sob WOIPSOS (10 &S SO LrF FOSS TPEPe) Jold BYE VS
AENERDID WD

(1) - 20°gS'S (i) €000 —argtoSS
(i) PeBS ww) IS (iv) @E@E ISP RO
Options :
(1), (11) and (111)
(1), (11) 20005 (111)
1%
(1). (111) and (1v)
(1). (111) 6A5W (1v)
(11), (111) and (1v)
(11). (111) OG5 (1v)
i
(1). (11) and (1v)

(1), (11) 3003w (1v)

Question Number : 158 Question Id : 719650318 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which one among the following reaction products gives 1odoform test?

800 073 G5 YT°) O 2O WCIPE PSR HOXSDH BXo6?

~

T
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Options :

CH,CH,CH,C = N— ) CetLMaBr |

(1)H,0"

| %

(C4H,), Cd CH,COCI |
2.

CH,=CHCH,CH(OH)CH; e >
3w

C.H,CH,cN—®) SoHsMebr |

) (1)H,0

4, ®

Question Number : 159 Question Id : 719650319 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The major products P and Q in the following reaction sequence are

& §ob S0°5AES’ ©OE &9 1T O P 005 Q SEre

Q (©6%)
(1) KMnO; (excess) (iii) LiAIH,
CH;, > P ¥ O
_I_
P-4 (iv) H30
H;C o
(11) dl_l H2504
28
Options :
£ Q

HOIH CHz OH

HO,C HOH,(C~ :

T
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CO,H CH,OH

Q
H;C H3C

P

Q
: LO,H CHO
HO,C OHC~ :

3 Q
/O/COEH CHs
HO,C H;C” :

Question Number : 160 Question Id : 719650320 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which one of the following compounds undergoes Hoffmann degradation reaction?

&8 808 DYTTOS’ DB HFDIS D) 5888 SBS” S olWob.

Options :
CH:CN
[, %
CH;CONHCH3
CH3CONH:
3.V
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